APPENDIX B: CENTRAL BEDFORDSHIRE LOCAL BUS CONTRACTS

including services contracted to neighbouring authorities to which Central Bedfordshire makes a contribution.

Description	Days of Operation	No. of Days	Est. Net Outturn Cost 2009/10	Annual Passengers Carried	Cost per Passenger	Performa nce Category	Communities served	Remarks
Red Rose 223/231. Full Sunday service between Dunstable, Caddington, Slip End, Luton, Sundon, Chalton, Toddington, Harlington, Flitwick, Ampthill, Maulden, Houghton Conquest and Bedford.	Sundays and Bank Holidays	59	£49,757	4,200	£11.85	D	Dunstable, Caddington, Woodside, Slip End, Sundon, Chalton, Toddington, Harlington, Westoning, Flitwick, Ampthill, Maulden, Houghton Conquest	Bedford Borough pays 15.4% of gross cost. No contribution from Luton Borough.
All Stagecoach 160 and 165 journeys on Saturdays and School Holidays; Bedford to Leighton Buzzard, via Stewartby, Marston Moretaine, Brogborough, Ridgmont, Aspley Guise, Woburn Sands and Heath & Reach.	Saturdays & School Holidays	115	£15,885	1,400	£11.35	D	Marston Moretaine, Lidlington, Brogborough, Ridgmont, Husborne Crawley, Aspley Guise, Woburn Sands, Heath & Reach, Leighton Linslade.	Bedford Borough pays 29.7% of gross cost.
Luton Borough Council. Extension of last Arriva bus no. 4 at 23:05 from Farley Hill to Slip End, Woodside and Caddington	Mondays to Saturdays	304	£1,967	200	£9.83	С	Slip End, Caddington	Luton Borough pays 93.7% of gross cost.

Grant Palmer 200. Pays for: 06:20 Flitwick to Biggleswade; 07:03 Biggleswade to Flitwick; 13:27, 16:27, 18:40 Biggleswade to Flitwick; 12:25, 14:25 Flitwick to Biggleswade; 17:59 Silsoe to Biggleswade.	Saturdays	54	£16,370	4,000	£4.09	С	Biggleswade, Broom, Southill, Stanford, Clifton, Shefford, Campton, Chicksands, Gravenhurst, Clophill, Maulden, Ampthill, Flitwick, Silsoe	Also pays for diversion of commercial journeys via Southill, Campton and Upper Gravenhurst.
Hertfordshire County Council 97. Evenings and Sundays. Covers 19:15, 21:15 Stotfold – Hitchin; 20:46, 22:46 Hitchin – Stotfold; Sundays – whole service	Design	363	£2,182	543	£4.02	С	Stotfold, Fairfield Park	Herts CC pays 98% of gross cost.
Red Rose 223, 231. Evening service between Dunstable, Caddington, Slip End, Luton, Sundon, Chalton, Toddington, Harlington and Westoning. Journeys are: 223 19:21, 21:25 Luton — Harlington; 223 22:44 Luton — Westoning; 223 19:55, 22:05 Harlington — Luton; 231 20:31 Luton — Dunstable; 231 21:00 Dunstable — Luton	Thursdays, Fridays and Saturdays	154	£27,682	6,900	£4.01	С	Dunstable, Caddington, Woodside, Slip End, Sundon, Chalton, Toddington, Harlington	

Centrebus X31 . Extension of certain journeys from Dunstable to Milton Keynes.	Mondays to Fridays	250	£10,582	2,800	£3.78	С	Dunstable, Hockliffe	
Bedford Borough Council 168. Bedford – Kempston – Stewartby – Marston Moretaine – Lidlington. One journey each way runs via Hall End, Wood End and Kempston West End.	Mondays to Saturdays	304	£19,835	5,500	£3.61	С	Lidlington, Marston Moretaine	Bedford Borough pays 77.8% of gross cost.
Luton Borough Council 24. Contribution towards evening service to Dunstable (Weatherby) provided by service 24 between Luton and Dunstable.	Mondays to Saturdays	304	£12,158	3,400	£3.58	С	Dunstable	Luton Borough pays 80.68% of gross cost. Recently re- tendered by LB – price reduced by £12 per day
Centrebus 34. Extension from Dunstable Square to Salters Way to replace 52 service.	Mondays to Fridays	250	£22,487	6,300	£3.57	С	Dunstable	
Stagecoach S1 Bedford to Luton, early evening journeys: 19:30 Bedford to Luton; 20:30 Luton to Bedford	Mondays to Saturdays (monthly charge)	304	£5,755	1,700	£3.39	С	Clophill, Silsoe, Barton-le-Clay	Bedford Borough pays 35.5% of gross cost.

Centrebus 79. Pays for 07:28 from Meppershall to Luton, 17:50 Luton to Meppershall, and whole remaining service north of Barton.	Mondays to Saturdays	304	£85,589	19,700	£3.32	С	Meppershall, Shefford, Gravenhurst, Chicksands & Campton, Shillington, Pegsdon, Barton- le-Clay, Streatley	About to introduce new accessible vehicles. Receives no funding from Luton Borough.
Shoreys 142 . 15:35 Ampthill, Church – Redborne School – Flitwick Station – Steppingley Rd – Manor Way – Rail Station.	School Days	189	£10,438	3,200	£3.26	С	Ampthill, Flitwick	Primarily used by non-entitled school children.
Red Kite 73. Journeys are: 09:30, 10:30, 14:00 Totternhoe – Eaton Bray – Billington – Leighton Buzzard; 10:05, 12:05, 16:16 Leighton Buzzard – Totternhoe.	Mondays to Saturdays	304	£25,698	8,100	£3.17	С	Totternhoe, Eaton Bray, Billington, Leighton Linslade	
Hertfordshire County Council 89. Extension of Hitchin - Pirton service to Shillington, Meppershall and Henlow Camp. Cost of £42.18 per day increased by £40 from 2/1/09 for extension of two off- peak journeys via Stondon to Shefford.	Mondays to Saturdays	304	£24,983	8,800	£2.83	С	Shillington, Meppershall, Stondon, Shefford, Henlow Camp	Herts CC pays 72.0% of gross cost.

AGS 90 . Arlesey – Henlow taxibus	Mondays to Saturdays	304	£34,902	13,000	£2.68	С	Henlow, Arlesey, Stotfold
Arriva The Shires 61. 07:58 (M-F) and 08:27 (Sat) from Edlesborough to Dunstable	Mondays to Saturdays	304	£12,215	4,700	£2.61	С	Dunstable, Totternhoe, Eaton Bray
Grant Palmer 197. Shopping service from Biggleswade, Langford, Shefford, Clophill, Ampthill and Flitwick to Milton Keynes. Leaves Holme Court Avenue at 09:10, returns from Milton Keynes at 13:30.	Tuesdays	51	£8,605	3,300	£2.59	С	Biggleswade, Langford, Henlow, Clifton, Shefford, Clophill, Maulden, Ampthill, Flitwick, Westoning
Grant Palmer 197. Shopping service between Streatley, Barton, Ampthill, Flitwick, Woburn Sands and Milton Keynes. Leaves Streatley at 08:57 and returns from Milton Keynes at 14:20.	Saturdays	54	£6,213	2,500	£2.51	С	Streatley, Barton- le-Clay, Clophill, Maulden, Ampthill, Flitwick, Steppingley, Ridgmont, Husborne Crawley, Aspley Guise, Woburn Sands
Litchfield 140 . Journeys are: 10:09, 12:59 Toddington – Milton Bryan – Eversholt – Steppingley – Flitwick – Ampthill; 09:20 Milton Bryan – Toddington; 12:05 Ampthill – Toddington; 14:40 Ampthill – Milton Bryan	Wednesdays and Saturdays	106	£5,315	2,300	£2.33	С	Toddington, Milton Bryan, Eversholt, Steppingley, Flitwick, Ampthill

J&D Travel E7. Whole service supported. Runs from Biggleswade to Letchworth, with additional Friday journey from Sandy and Potton.	Mondays to Fridays	250	£46,753	22,750	£2.06	С	Biggleswade, Langford, Henlow, Arlesey, Stotfold, Clifton	
Stagecoach 160/165 Contract covers all of the 160 and the Woburn Sands to Bedford section of the 165 on school days only.	School Days	189	£5,494	4,000	£1.37	С	Marston Moretaine, Lidlington, Brogborough, Ridgmont, Husborne Crawley, Aspley Guise, Woburn Sands, Heath & Reach, Leighton Linslade.	Bedford Borough pays 42.9% of gross cost.
Grant Palmer 202 . Pays for; 07:45 L&D Hospital to Manshead School; 15:40 Manshead School to Harpenden	School Days	189	£21,840	8,300	£2.62	В	Dunstable, Caddington, Aley Green, Woodside, Slip End, Pepperstock	
Meridian Line Travel E1-E6 inclusive. Former East Beds Dart services, operated with councilowned vehicles. Retendered in 2008 and one-year contract awarded to Meridian Line, with option of extending to two years. Includes vehicle maintenance.	Mondays to Saturdays	304	£271,97 7	105,800	£2.57	В	Biggleswade, Sandy, Potton, Everton, Sutton, Wrestlingworth, Old Warden, Ickwell, Northill, Upper Caldecote, Dunton, Eyeworth	Bedford Borough pays 2.3% of gross cost. Proposed to merge with Biggleswade town services when retendered in 2010.

Arriva The Shires 61. 21:45 from Dunstable to Luton. 22:15 from Luton to Edlesborough.	Mondays to Saturdays	304	£7,939	3,140	£2.53	В	Dunstable, Totternhoe, Eaton Bray	Luton Borough pays 47.5% of gross cost.
Arriva The Shires 150 . Aylesbury - Leighton Buzzard - Heath & Reach - Milton Keynes	Sundays and Bank Holidays	59	£3,540	1,430	£2.48	В	Leighton Linslade, Heath & Reach	Bucks CC and Milton Keynes pay approx. 90% of gross cost.
Expresslines M2. Evening service between Bedford and Hitchin. Journeys are: 19:30, 21:30 Bedford to Hitchin; 20:30, 22:30 Hitchin to Bedford	Mondays to Saturdays	304	£24,311	9,800	£2.48	В	Haynes, Shefford, Clifton, Henlow, Arlesey	Herts CC pays 6.3% and Bedford Borough pays 32.4% of gross cost.
Centrebus 82. Pays for: 14:11 Henlow – Biggleswade; 06:55, 14:57, 15:57, 17:10 Hitchin – Biggleswade; 14:27, 15:27, 16:27, 17:45 Biggleswade - Hitchin	Saturdays	54	£7,367	3,100	£2.38	В	Henlow Camp, Henlow, Langford, Biggleswade	
Arriva The Shires 60. Complete service between Luton, Dunstable, Totternhoe, Eaton Bray, Whipsnade, Studham and Kensworth.	Sundays and Bank Holidays	59	£8,873	3,830	£2.32	В	Dunstable, Totternhoe, Eaton Bray, Whipsnade, Studham, Kensworth	Luton Borough pays 21.3% of gross cost.

Centrebus 231. Journeys covered are: 07:50 Luton – Dunstable via Manshead School (school days); 08:05 Luton – Dunstable (non- school days); 15:40 Manshead School – Luton (school days); 15:40 Dunstable – Luton (non-school days); 18:15 Dunstable – Luton; 08:20 Slip End – Dunstable (Saturdays); 18:10 Dunstable – Slip End (Saturdays)	Mondays to Saturdays	304	£27,779	12,400	£2.24	В	Dunstable, Caddington, Woodside, Slip End	Two vehicles council funded.
Centrebus 20. Whole service between Luton and Toddington/Flitwick/Pullo xhill	Mondays to Saturdays	304	£71,969	32,900	£2.19	В	Pulloxhill, Flitton, Greenfield, Flitwick, Westoning, Harlington, Toddington, Chalton, Sundon	Five year contract with new accessible vehicles. No contribution from Luton Borough.
Bedford Borough Council V2. Provides complete Sunday service on V2 Bedford – Wootton – Marston Moretaine – Cranfield.	Sundays and Bank Holidays	59	£9,281	4,900	£1.89	В	Cranfield, Marston Moretaine	Bedford Borough pays 55.6% of gross cost.

Stagecoach M2/M3. Provides complete M2 (Bedford – Hitchin) and M3 (Bedford – Biggleswade) service on Sundays and Bank Holidays.	Sundays and Bank Holidays	59	£23,261	12,400	£1.88	В	Haynes, Shefford, Clifton, Henlow, Arlesey, Mogerhanger, Sandy, Beeston, Biggleswade	Bedford Borough pays 36.2% of gross cost.
Arriva The Shires 97. Pays for one vehicle, equivalent to supporting Grange Estate – Stotfold service.	Mondays to Saturdays	304	£58,052	31,400	£1.85	В	Stotfold, Fairfield Park	
Grant Palmer 200. Pays for: 06:20 Flitwick to Biggleswade; 07:03 Biggleswade to Flitwick; 13:27, 16:27, 18:40 Biggleswade to Flitwick; 12:25, 14:25 Flitwick to Biggleswade; 17:59 Silsoe to Biggleswade; Also pays for diversion of commercial journeys via Southill, Campton and Upper Gravenhurst.	Mondays to Fridays	250	£64,443	34,750	£1.85	В	Biggleswade, Broom, Southill, Stanford, Clifton, Shefford, Campton, Chicksands, Gravenhurst, Clophill, Maulden, Ampthill, Flitwick, Silsoe	

	T	ı	T	T				
Centrebus X31 . Extension of certain journeys to Toddington and Flitwick. Contract price increased by £30 per day from 1/4/08 to cover: 07:10 Toddington-Luton starts at Flitwick at 06:55; 17:05 Luton-Toddington extended to Flitwick (these changes replaced withdrawn service 20)	Mondays to Fridays	250	£42,578	24,200	£1.76	В	Dunstable, Houghton Regis, Tebworth, Wingfield, Toddington, Harlington, Westoning, Flitwick	
Centrebus 231. Diversion of 08:34 and 10:10 ex Dunstable via Pepperstock; Diversion of 11:40, 13:10 and 16:20 ex Luton via Pepperstock	Saturdays	54	£4,174	2,400	£1.74	В	Dunstable, Caddington, Woodside, Slip End	
Centrebus X31 . Extension of certain journeys (former service 43) between Dunstable, Studham and Hemel Hempstead. Also, evening journeys at 19:30, 21:45 Luton to Studham; 20:20, 22:43 Studham to Luton	Mondays to Saturdays	304	£91,643	53,100	£1.73	В	Dunstable, Kensworth, Whipsnade, Studham	Luton Borough pays 5.2% and Herts CC pays 22.9% of gross cost.

Centrebus 852 . Houghton Regis – Parkside – Mill Vale School – Northfields School	School Days	189	£23,043	13,900	£1.66	В	Dunstable, Houghton Regis	Service predominantly used by non-entitled school children. No direct alternative available.
Red Rose 69/70 . Journeys are:19:53, 21:49 Leighton Buzzard – Luton; 20:45, 22:45 Luton – Leighton Buzzard.	Mondays to Saturdays	304	£23,405	14,500	£1.61	В	Dunstable, Stanbridge, Tilsworth, Eggington, Leighton Linslade	Luton Borough pays 28.4% of gross cost.
Grant Palmer 202. Pays for the following journeys: 08:02 Aley Green to Harpenden; 08:30 Harpenden to Dunstable; 11:30 Dunstable to L&D Hospital; 15:04 L&D Hopsital to Dunstable; 15:45 Dunstable to Harpenden (not school days); 17:10 Harpenden to Dunstable	Mondays to Fridays	250	£58,005	38,500	£1.51	В	Dunstable, Caddington, Aley Green, Woodside, Slip End, Pepperstock	
Grant Palmer 27, 36A, 36C Leighton Buzzard town services. Serves Linslade and Tesco store. 27 serves Heath and Reach.	Mondays to Fridays	250	£108,20 2	73,000	£1.48	В	Leighton Linslade, Heath & Reach	One vehicle council funded. Subject of pending "Kickstart" bid

Centrebus X31 . Extension of certain journeys to Toddington and Flitwick. Contract price increased by £20 per day from 1/4/08 to cover: 08:10 Toddington-Luton starts at Flitwick at 07:50 (this change replaced withdrawn service 20)	Saturdays	54	£7,571	5,200	£1.46	В	Dunstable, Houghton Regis, Tebworth, Wingfield, Toddington, Harlington, Westoning, Flitwick	
Whole of Arriva The Shires services 32 and 33 between Leighton Buzzard High Street, Brooklands Drive, Meadow Way or Appenine Way.	Mondays to Saturdays	304	£68,789	50,800	£1.35	В	Leighton Linslade	Subject of pending "Kickstart" bid
Buckinghamshire County Council 61. Luton - Dunstable - Eaton Bray - Aylesbury. Contribution supports hourly service on Saturdays.	Saturdays	54	£7,668	7,000	£1.10	В	Dunstable, Totternhoe, Eaton Bray	

Stagecoach 165 (school contract E05) from Woburn Sands to Leighton Buzzard via Vandyke Upper School. Return from Leighton Buzzard to Heath and Reach at 15:30. This contract operates in conjunction with R01/016 and R99/009 which are cross- boundary services.	School Days	189	£6,051	5,600	£1.08	В	Woburn Sands, Woburn, Heath & Reach, Leighton Linslade
Grant Palmer 74. Weekly shopper service from Barton via Streatley, Sundon, Chalton and Houghton Regis to Dunstable. Leaves Barton at 09:30 and returns from Dunstable at 12:25.	Wednesdays	52	£2,955	2,760	£1.07	В	Barton-le-Clay, Streatley, Sundon, Chalton, Houghton Regis, Dunstable
Red Kite 77. Toddington to Hitchin via Harlington, Flitwick, Clophill, Silsoe, Flitton, Pulloxhill, Barton and Hexton. Leaves Toddington at 09:15. Returns from Hitchin at 12:50	Tuesdays	51	£3,598	3,570	£1.01	В	Toddington, Harlington, Westoning, Flitwick, Clophill, Silsoe, Flitton, Pulloxhill, Barton-le-Clay
Centrebus 231 . Whole service between Luton town centre and Bushmead.	Mondays to Fridays	250	£25,234	31,500	£0.80	В	Bushmead

Luton Borough Council 7, 38. Evening service between Beds/Luton boundary, Houghton Regis and Dunstable town centre.	Mondays to Saturdays	304	£19,912	25,350	£0.79	В	Houghton Regis, Dunstable	Luton Borough pays 56.8% of gross cost.
Grant Palmer 10 Supports the following journeys: 07:25, 09:30 Keynes to Leighton Buzzard (Saturdays and school holidays only); 16:30 Milton Keynes to Leighton Buzzard; 07:13 Leighton Buzzard to Milton Keynes (Saturdays and school holidays only); 17:36, 18:56 Leighton Buzzard to Milton Keynes.	Mondays to Saturdays	304	£41,990	54,700	£0.77	В	Leighton Linslade, Heath & Reach, Woburn, Husborne Crawley, Aspley Guise,	Milton Keynes Council pays 48.4% of gross cost. MKC are currently reviewing their level of contribution.
Grant Palmer 36C Leighton Buzzard town services. Serves Linslade and Tesco store.	Saturdays	54	£12,100	15,770	£0.77	В	Leighton Linslade	One vehicle council funded.
Centrebus DB3 Dunstable Town Service. Town Centre - Langdale Road	Mondays to Saturdays	304	£45,347	60,000	£0.76	В	Dunstable	Five year contract with new accessible vehicles.

Arriva The Shires Line 150. Various journeys extended from Leighton Buzzard to Heath & Reach.	Mondays to Fridays	250	£19,842	26,425	£0.75	В	Leighton Linslade, Heath & Reach	Subject of pending "Kickstart" bid
Litchfield 139 . Journeys are: 10:30 Woburn Sands – Husborne Crawley – Woburn - Eversholt – Leighton Buzzard; Return from Leighton Buzzard at 13:05	Tuesdays	51	£1,183	1,619	£0.73	В	Aspley Guise, Husborne Crawley, Woburn, Eversholt, Hockliffe, Leighton Linslade	
Litchfield 138. Journeys are: 09:05 Toddington – Eversholt – Milton Bryan – Woburn Sands – Milton Keynes; 14:10 Woburn Sands – Milton Keynes; Return from Milton Keynes to Toddington at 14:30	Tuesdays	51	£1,247	1,815	£0.69	В	Toddington, Harlington, Tingrith, Eversholt, Milton Bryan, Woburn	
Buckinghamshire County Council 61. Luton - Dunstable - Eaton Bray - Aylesbury. Further contribution.	Mondays to Saturdays	304	£3,195	4,700	£0.68	В	Dunstable, Totternhoe, Eaton Bray	Bucks CC pays 52% and Herts CC, Luton Borough and Central Beds pay the balance.

Biggleswade Town Services. Herberts 185 (every hour) serves Holme Court Avenue and Saxon Gate. 187 (every hour) serves Stratton Way and Northfields. Whole service supported.	Mondays to Saturdays	304	£39,945	59,800	£0.67	В	Biggleswade
Grant Palmer X44. Extension of commercial Bedford – Clophill service to Maulden, Ampthill and Flitwick.	Mondays to Saturdays	304	£44,954	72,350	£0.62	В	Clophill, Maulden, Ampthill, Flitwick
Centrebus X31 diversions via Wilbury Drive: 09:00 Dunstable – Luton; 11:52, 13:52 Luton – Dunstable	Mondays to Saturdays	304	£10,388	18,100	£0.57	В	Dunstable
Grant Palmer X42. Whole service between Flitwick and Toddington, including peak hour journeys to/from Dunstable. Also includes diversion of all journeys via Houghton Conquest.	Mondays to Saturdays	304	£59,921	111,570	£0.54	В	Flitwick, Westoning, Harlington, Toddington, Houghton Conquest

Hertfordshire County Council 343. Contribution towards Sunday service between St. Albans, Markyate, Kensworth and Dunstable, with Summer-only projection to Whipsnade Zoo.	Sundays and Bank Holidays	59	£2,333	4,400	£0.53	В	Dunstable, Kensworth	Herts CC pays 75% of gross cost.
Grant Palmer X44. Additional peak vehicle	Mondays to Saturdays	304	£57,803	112,800	£0.51	В	Clophill, Maulden, Ampthill, Flitwick	
Ivel Sprinter 112, 193. Journeys are: 112: Sandy – Tempsford – Blunham – Chawston – Rookery Road – St. Neots. Thursdays only. 193: Thursdays-only shopper bus from Biggleswade, Sutton, Potton, Everton, Sandy and Tempsford to St. Neots. Serves only Little Barford in Bedford Borough.	Thursdays	51	£1,277	2,500	£0.51	В	Sandy, Tempsford, Blunham, Chawston, Biggleswade, Sutton, Potton, Everton	Bedford Borough pays 26.1% of gross cost.
Bedford Borough Council S1 & M50 . Whole Sunday service supported on S1 (Bedford to Luton) and M50 (Bedford to Rushden)	Sundays and Bank Holidays	59	£4,166	8,500	£0.49	В	Clophill, Silsoe, Barton-le-Clay	Luton Borough pays 15.7% and Bedford Borough pays 59.6% of gross cost.

Luton Borough Council 366 journeys at the following times: 06:05 Luton to Hatfield; 18:35 Hatfield to Luton	Mondays to Fridays	250	£2,643	5,900	£0.45	В	East Hyde	Luton Borough pays 50% and Herts CC pays 23.5% of gross cost.
Buckinghamshire County Council 165. Six return journeys per day from Aylesbury and Wing to Leighton Buzzard. Off-peak service extends to Stoke Mandeville Hospital.	Mondays to Saturdays	52 wee ks	£1,564	4,700	£0.33	В	Leighton Linslade	
Hertfordshire County Council 391. One return journey per day from Stotfold to Baldock, Lister Hospital and Stevenage	Mondays to Saturdays	304	£1,608	14,870	£0.11	В	Stotfold	Herts CC pays 93% of gross cost.
Grant Palmer 231. Journey at 18:20 from Luton to Dunstable	Mondays to Saturdays	304	£3,105	5,470	£0.57	А	Dunstable, Caddington, Woodside, Slip End	
Centrebus 82. Pays for 06:55 Hitchin to Biggleswade	Mondays to Fridays	250	£4,801	14,100	£0.34	А	Henlow Camp, Henlow, Langford, Biggleswade	

Centrebus 231. Back- projection of 09:16 Caddington to Luton to commence at Wyevale Garden Centre at 09:14; Diversion of same journeys via Pepperstock. Diversion of 16:20 ex Luton to run via Pepperstock.	Mondays to Fridays	250	£3,675	10,900	£0.34	Α	Dunstable, Caddington, Woodside, Slip End	
Hertfordshire County Council 46. Peak-hour journeys from Hemel Hempstead, Redbourn, Markyate and Slip End to Luton	Mondays to Saturdays	304	£2,666	13,300	£0.20	А	Slip End	Herts CC pays 91.7% of gross cost.
Arriva The Shires 69, 70. Complete Sunday service - Luton to Leighton Buzzard.	Sundays and Bank Holidays	59	£7,578	45,200	£0.17	A	Dunstable, Stanbridge, Tilsworth, Eggington, Leighton Linslade	Luton Borough pays 26.4% of gross cost.
Hertfordshire County Council 366 . Entire Saturday service between Luton, East Hyde, Harpenden, Wheathampstead and Welwyn Garden City.	Saturdays	54	£1,185	7,820	£0.15	А	East Hyde	Herts CC pays 85% of gross cost.
Centrebus DB2 Dunstable Town Service. Town Centre - Downside	Mondays to Saturdays	304	£12,759	100,400	£0.13	А	Dunstable	Five year contract with new accessible vehicles.

Grant Palmer X42. Whole service between Flitwick and Toddington, including peak hour journeys to/from Dunstable. Also includes diversion of all journeys via Houghton Conquest.	Saturdays	54	£1,910	15,070	£0.13	А	Flitwick, Westoning, Harlington, Toddington, Houghton Conquest	
Buckinghamshire County Council 162. Contribution towards two days of what is now a six-day a week service between Bletchley and Edlesborough.	Tuesdays and Saturdays	52 wee ks	£2,926	25,400	£0.12	А	Billington, Leighton Linslade	Contribution specifically covers section of route between Billington and Leighton Buzzard.
Grant Palmer DB1 Dunstable Town Service. Town Centre - Ashcroft	Mondays to Saturdays	304	£12,186	125,900	£0.10	А	Dunstable	

Key:

Sundays and Bank Holidays

Sundays and Bank Holiday service

Mondays to Daily - contract is for a combination of evening, Sunday and Bank Holiday journeys

to Evening service Saturdays